(Pfociu;»l;

\V o{:o 's \‘LQ

4(

I
i,
: |

%W' par
) —> —) N —)
¢ L ) C L& M’:f C (b
/\ég L ll=1le, | =W e, )| =1
e, e’ /di/_/o
ZL}
‘:.?}(ré; = 5; Z” —) —

o «
\/A)

<,

e, X ¢



(on c'u .*2: Uw’l‘bh’ Q@

3
Ow \)Ei&&@ LW \Z)S@uo{xjf- &e:%em{h ?vw‘]

=)

oL, —d,b,
Ay by — 2, b,
A,b, = 4. b

1




2 () —1
1.5.1 Ondonnelesvecteurs @ = 0 |, b=1{ 4 | et T = 2 1.
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a) Calculer les produits vectoriels @ x

; b x
(a*.—E')x(a*—F)., (Exﬁ’)x?etm(?

b) Le produit vectoriel est-il associatif 7

(2xL)x T <



